ALL EARS puzzle page

This month’s puzzle is a bit different - in that the letters needed to solve the main clue are already given
to you in a grid. All you need to do is find them!

To do that, you take the given coordinates, and locate the appropriate letter from the grid. Note however,
for each coordinate pair - there are two possible letters. For example, the first coordinate pair is [1, 4].
From the grid — this will either be “N” (1 down, 4 across), or “U” (1 across, 4 down).

Enter the letters in the boxes provided (the first one is done for you). Once you have found all of the
letters - arrange them to solve the main clue, but remember that only half of the letters will be needed.

1,4 N | U ! 1 (2|34 |56 |7 (8]9(10|11(12|13 (14|15 16
1,10 1({T|C|[F|N|P I M[{Z | QU | T|[P|W|[L|M|C
1,13 2| H[A|D|[G|J|[L]|T[W]R[Y]I Plz|O]|]C|B
3,4 3| E|S|C|O|N|D|I DIO|JA[X|H[M]|Q|E]|T
3,14 4|1 U|O|O|S|F|H|K|[Z]|X|[M|]V|[V|N|[B]|C|Z
4,7 5|1L|C|J|[G|D|A]|BJ|P I'fA[E|]Y|R|W|G]|S
4,14 6 | C| I DIN|F[H]|J|[Z | X|[T|]V|[B|QIN]|]E|R
59 7|C|E|IM[A|JR|Y|D|O|G|E|H|J]|]K|L]C]|V
5,10 8|A|T|H|A|D|E|R|[S|G|U|L|[J|JU[W]|S|H
511 9 | TIY |A|L | T|({T|JLIE|R[A]|D|[I |O[Q]|O
5, 16 WO(W|K|[L]J]A[M|B|R|T|S]|K|I N|D|R|G| Z
6,7 11 s | 1 X| X|B|K]|F | N|T|N|S|W|[B|]O|N
6,9 12| TGS ]I LIR|F|[K]|]C|[Z]|NJ|I RI{P|F|W
6, 12 1I3|A|S|H | L{P|A|[V]|]L|A|IM|X]|U|R|F |

6, 15 4| NIW|A|S|H|JE|R|E|E]|G]|I N|A|J]O|R]|O
8, 10 15| D | L[S E|JE|S|C|]U]|[X A|lG|Q]|S|T
8, 15 6|A|L|P|JH|A]B|R]JA|[V]O EJL|[T]A[M
9,13

11, 15

12, 14

14, 16

Now arrange the letters to solve the following clue:

Lord Baden would be proud of this national event - which this year celebrates 100 years of collaboration
between one of the world’s largest youth organizations, and one of the world’s greatest hobbies.




